Components - Fittings

Please check you have all the panels listed below

Note: The quantitie below are the correcet amount to complete the assembly. In some cases more fittings
may be supplied than are required.

®

Cam Bolt x 42

Cam lock x 42

© z

6*30mm Dowel x 40

e

4*35mm Screw x 22

3.5*12mm Screw x 116

i

Hold hands x 2

@

Vertical nut x 8

Locking caster x 2

¥ &

6*14mm Screw x 20

e

Hold hands x 3

26mm x 4

oA

Screwdriver x 1

Y

4*10mm Screw x 3

4*25mm Screw x 20

o
S
F

3*14mm Screw x 12

C

Runner 350mm x 3

e

Runner 350mm x 3

°

Runner 350mm x 3

Tools required

0.2

Screwdrivers can be converted to Phillips and Slotted.

Ruler - Use this ruler to help correctly identify the screws

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 105 110 115 120 125 130 135 140 145 150 155 160 165 170

"/I/I/IWI/I/I/IWI/I/IW/IWI/I/I/IW»

The screws length is measured from the head to the point (35mm screw shown).

2



Using Camlocks

Step 1

Connect the male
camlock as diected in
the assembly instructions
using a scewdriver.

Step 3

Insert the female
camlock as shown in the
instruction.

Note: ensure that the
arrow on the top of the
camlock points towards
the entry hole for the
male camlock.

1

DO NOT OVER TIGHTEN.

Step 2

NE PAS SERRER EXCESSIVEMENT.

Push the male camlock
into the entry hole.

Step 4

Turn the female camlock
clockwise with a
screwdriver.

You should feel a click
when the camlock is
locked in place.

The joint is now secure.




O ¢
e

S B /0\

.. @,
/Q AN/ \a yi
N =

/S &

Assembly Instructions



Assembly Instructions

1200 x 440 x 15 mm

1

375 x40 x 12 mm

x 440 x 15 mm

1

1180 x 440 x 15 mm

X 440 x 15 mm

1

120 x 90 x 15 mm

X 440 x 15 mm

1

381 x25x 25 mm

X 440 x 15 mm

1

202 x 110 x 15 mm

440 x 12 mm

1

202 x 110 x 15 mm

440 x 200 x 12 mm

1

382 x12x 12 mm




Assembly Instructions

361 x 110 x 12 mm

o

O,

90 x 70 x 18 mm

15 mm

207 x 170 x

2

1200 x 207 x 15 mm

207 x 170 x 15 mm

2

578 x 370 x 12 mm

405 x 375 x 12 mm

N
<

2

578 x 370 x 12 mm

592 x 382 x 15 mm

3

370 x 183 x 12 mm

3

12 mm

/ o

350 x 117 x 12 mm

3

416 X 76 X 12 mm

@

4

350 x 117 x 12 mm




Assembly Instructions

326 x 117 x 12 mm 345 x 334 x 3 mm

g < g




A
sse
m
bl
y Instruct
jon
S

Ca
m
Bolt x 4

6*
\Lee
m
m
Sc
rew
x4
Ve
rtic
aln
ut x
4




Assembly Instructions

®

Cam Boltx 2

6*30mm Dowel x 2




A
sse
m
bl
y Instru
ctio
ns

6*45m M
m
S
cr
ew
x 4
\Y/
erti
ica
I'n
ut
x 4

\QM
am
Bolt x 1

0




Assembly Instructions

ep 7

© z

6*30mm Dowel x 2

4*35mm Screw x 2

Step 8

Camlock x 4

6*30mm Dowel x 4




Assembly Instructions

6*30mm Dowel x 6

Cam lock x 6

Runner 350mm x 3

& / e /
Runner 350mm x 3

®

3.5*12mm Screw x 12

el

am Bolt x 4

\Le




Assembly Instructions

-

Cam lock x 4

6*30mm Dowel x 4




Assembly Instructions




Assembly Instructions

6*30mm Dowel x 8

e

4*35mm Screw x 8

®
s
\im Bolt x 4




Assembly Instructions

ep 17

\g)mm Dowel x 6




Assembly Instructions

/e

If you do not want to
move this kitchen island
cart, you may not install
this step.

Y @&

6*14mm Screw x 20

If you do not want to
move this kitchen island
cart, you may not install




Assembly Instructions

® 2

3.5*12mm Screw x 18 hinge x 6

®

¥

®

\3‘12mm Screw x 9




Assembly Instructions

© g

ball x 4

Pressure

x 8

®

7

®

3.5*12mm Screw x 16 hinge

¥

\3‘12mm Screw x 8




Assembly Instructions




Assembly Instructions




Assembly Instructions

4*16mm Screw x 4

Hold hands x 2

3.5*12mm Screw x 8

®

3.5*12mm Screw x 16




Assembly Instructions

Step 31




Assembly Instructions

v

©

4*35mm Screw x 12

Step 33




Assembly Instructions

Cam lock x 12

Step 35

1® &

e —
®

¥

Runner 350mm x 3

Runner 350mm x 3

\3‘12mm Screw x 12




Assembly Instructions

Step 37




Assembly Instructions

ep 38

? ®

Back plate buckle x 12

Step 39




